Ne ApTHUKYTT HamMeHOBaHMNE Kon
1 Buut M4x8 2
2 BaxuM WHypa 1
3 IlHyp ceTeBOM 1
4 1792-773-004 Pe3uHKa WHYypa 1
5 TpyOxka 1
6 |792-773-006 KonnmeHcaTop 1
7 BuHT 1
8 [20-0079 MUKPOBEIKJIIOUATEI b 1
9 |792-773-009 [IpyXMHa KJlaBUIIU 2
10 |792-773-010 Knaeuia BHKJIOYATEJS 1
11 |792-773-011 Ban OJIOKMPOBKU 1
15 Kopniyc, JjeBas I[IOJIOBMHA 1
31 BuuT M4x16 18
52 |792-773-052 Kopnyc, mnpaBas IOJIOBUHA 1
53 BuuT M4x25 1
Monesib
[Inna uenuasi SJIeKTpn4YeckKasi CSE160
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 1




Ne ApTHUKYTT HamMeHOBaHMNE Kon
12 |792-773-012 Tarika 1
13 |792-773-013 llecTepHs gKOpPA 1
14 |792-773-014 Brynka akopsa 1
16
17
18
19
20
21
22
>3 792-773-017 IBuraTesnp B cbOope 1
24
25
26
27
28
29
28 [792-773-028 lleTxky rpadmUTOBEE 1
30 Kopnyc nmBuraresns 1
31 BuHT M4x16 18
32 |792-773-032 Pyuka TOpMO3a 1
33 Pyuka-noyra 1
Mogmernb
[Inna uenuasi SJIeKTpn4YeckKasi CSE160

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 2




Ne ApTHUKYTT HamMeHOBaHMNE Kon
16
18
34
35 [792-773-035 llecTepHa penyTopa 1
36
37
38
39 |792-773-039 Bak MacCJIsHBIM 1
40
41 |792-773-040 [IpoBbka macsobaka 1
42
43 |792-773-043 YnjoTHeHre ©Oaka 1
44 linaHT Macyo3abO0pPHEM 1
45 BuaT M3%x10 2
46 |792-773-046 MacJioHacoc 1
47 IllaHT MaCJISHBIM 1
48 ByaT M4x12 1
49 |792-773-049 [TaTpyB®OK BHIXOINHOM 1
50 |792-810-088 Kosb10 YIJIOTHUTEJILHOE 2
51 |792-773-051 YIJIOTHEHME MacJioHacoca 2
Mogmernb
[Inna uenuasi SJIeKTpn4YeckKasi CSE160

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 3




Ne ApTHUKYTT HamMeHOBaHMNE Kon
54 |792-773-054 YIJIOTHEHME MacJIOKaHala 1
55 |[792-773-055 3Be3gouka Benmyuada 1
56 |792-773-056 Kosp1lo cTONOpPHOE 1
60

61

62 |792-773-060 HaTsaxurenb uenu B cbope 1
63

64

65 BuHT 1
66 |792-773-066 Kopnyc HaTaxmuTess 1
67 |792-773-067 Pyuka HaTaSXUTensa 1
68 BuHT M4x12 2
69 |792-773-069 YIJIOTHEHME KPBIIKY MMHB 1
;S 792-773-070 Kprluka MMHE 1
72 |792-773-072 BONT KpeIJieHUs MMHEL 2
73 Kooy 1

Mogmernb

[Inna uenuasi SJIeKTpn4YeckKasi CSE160

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 4




